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cameraTl1T?2

l

init buffer 0
buffer34 1 := 0; buffer34 2 := 0; buffer34 3 := 0; buffer34 highest := 0; buffer34 highest := 0;

Initial

7 discrete

3 clocks | 3 parameters
frame in 3
frame in 4
register23
ckT1T2 eZe buffer34 1
ckT3 P3 uncertain buffer34 2
ckT4 P4 uncertain buffer34 3

buffer34 highest

P3 uncertain >= ckT3
& 250*%P4 uncertain >= 9999
& 150*P3 uncertain >= 1999
& P4 uncertain >= ckT4
& ckT3 >=0
& ckT4 >=0
&e2e>=0
& 10001 >= 250*P4 uncertain
& 667 >= 50*P3 uncertain
& ckT1T2 =0

( camera0
N\

ckT1T2 = 0 )
J

init buffer 1
buffer34 1 :=1; buffer34 2 := 0; buffer34 3 := 0; buffer34 highest := 1; buffer34 highest := 1;

cameral

buffer34 1 := 1; buffer34 2 :=1; buffer34 3 := 0; buffer34 highest := 1; buffer34 highest := 1;

ckT1T2 =0

frame in 4 := 0; . frame in 4 :=1;
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(cameraZ

ckT1T2 = 0]

register23 := 0;
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(cameraB ckT1T2 = O]
frame in 3 := O
A s
(cameraél ckT1T2 = O]

tart

(T1T2 19 >= cleTZ]

ckT1T2 >= 17
T2done
register23 := 200;

(Tl T2done True]

init buffer 2 init buffer 3

buffer34 1:=1; buffer34 2 :=1; buffer34 3 :=1; buffer34 highest := 1; buffer34 highest := 1;

T3 T4

buffer34 2 > 0
Y & buffer34 3 =0
buffer34 3 > 0 & buffer34 3 =0 ) - :
& ckT3 = 8 | & buffer34 highest >= frame in 3 & buffer34 highest < frame in 3
T3 done & ckT3 =8 ~

T3 done
T3_done buffer34 3 := frame in 3; buffer34 highest := frame in 3;

buffer34 2 > 0

P3 uncertain = ckT3
T3 start
ckT3 := 0; frame in 3 := register23;

(TBpreinit True] (T4preinit True]
start tart
8 >= ckT3 v
| T3wait | P3_uncertain >= ckT3 >st_a1?t T4wait | P4 uncertain >= ckT4
A

buffer34 1 > 0 buffer34 1 > 0

Y buffer34 1 =0
Y & buffer34 2 =0 buffer34 1 =0 . — : buffer34 1 > 0 : buffer34 1 =0
& bu.ffer34_2_— 0 : & buffer34 highest < frame in 3 & buffer34 highest >= frame in 3 & buffer34_h1ghest_< frame_in_3 & P4 uncertain = ckT4 frame _In_4 _< 200 & P4 uncertain = ckT4 ckT4 =1
& buffer34 highest >= frame in 3 = _ — = - _ — = & ckT3 = 8 ~ & ckT4 =10 =
_ & ckT3 =8 & ckT3 =8 T4 start nonempty
& ckT3 = 8 T3 done
T3 done T3 done T3 done

T4 start empty

3 4 done empty
ckT4 := 0; frame in 4 := 0;

. — T4 done nonempty
_ ol T : o - ckT4 := 0; frame in 4 := buffer34 1; buffer34 3 := 0; buffer34 2 := buffer34 3; buffer34 1 := buffer34 2; - =
buffer34 2 := frame in 3; buffer34 highest := frame in 3; buffer34 1 .= frame in 3; buffer34 highest := frame in_3;

= = {TBprocess

8 >= ckT3

T4process nonempty | 10 >= ckT4)*

T4process empty | 1 >= ckT4]

frame in 4 = 200
& e2e = 28 + ckT1T2

& ckT4 = 10
T4 done nonempty
ckT4 := 0;

\ /
[T4end_ok ckT4 = O]




